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1. Hroma cocraBuiia tekct. [lomoru eii npeodpa3oBaTh ¢JI0oBa B CKOOKAX TaK, YTOOBI
OHU MOJAXOHJIU N0 TPAMMATHKE H YacTH peun. OTBeTHI 3alIUIIU B TA0IHIY IOCIe
TekcTa. (6 0aJ1710B)

St. Valentine's Day has roots in several 1 (differ) legends. One of the 2 (early) popular symbols
of the day is Cupid, the Roman god of Love, who is represented by the image of a young boy
with a bow and arrow.

St. Valentine's Day is now a day for sweethearts. It is the day that you show 3 (you) friend or
loved one that you care. You can send candy to someone you think is special. Or you can send
4 (rose), the flower of love. Most people send valentines, a greeting card named after the notes
that St. Valentine wrote from jail. Valentines can be sentimental, romantic and heartfelt. They
can be funny and 5 (friend). If the sender is shy, valentines can be anonymous.

Americans of all ages love to send and receive valentines. Handmade valentines are created by
cutting hearts out of coloured paper. Valentines can be heart-shaped, or have hearts, the symbol
of love, on them. In elementary schools, 6 (child) make valentines for their classmates and put
them in a large decorated box, similar to a mailbox. On February 14, the teachers open the box
and distribute the valentines to each student. After the students read their valentines, they have
a small party with refreshments.
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2. CMelIapuKH XOTAT paccKka3aTh Tebe HCTOPHIO PO JAeHb po:kaeHus. Packpoii
CKOOKH, ynoTpe0Jisifl IJ1aroJ B HykHoil popme. OTBeThI BIUIIHU B 0JIAHK OTBETOB
nocJjie 3agaHus. (8 0a,1710B)

KROSH: Hedgehog, it is Nusha's birthday today. Why __you ___ (1) sit) at home?

HEDGEHOG: 1 (2) think) about a present to
Nusha. I (3) not to know) what to give her.
I___ (4)not to choose) yet. Maybe, I (5)
give) her a cactus.

KROSH: Yesterday you (6) show) me a big
collection of cactuses. Why not to take one of them?
HEDGEHOG: I (7) have) this collection
for many years. And I (8) like) all of my
plants very much.

KROSH: Let's go to the desert and find a new one.




The friends went to the desert. They (9) see) many cactuses, but Hedgehog

_ (10) not to like) them. At last, he __ (Decry): "I (12) find) a
cactus with a very beautiful flower. I think, Nusha (13) like) it." They

_ (14) take) the cactus and went back.

At last, they (15) come) to Nusha's house. Everybody __ (16) be) very happy.
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3. Ilomoru Hiomie oTragaTh M 3anucaTh aHIJuiickue cjioBa Ha Temy «llorogay,

onupasich Ha UX TpaHckpunuuo. He 3a0yap K KaskI0My CJI0BY HAMMUCATDH NEePEBO
(10 6an710B)

Tpanckpunius CI10BO Ha aHIITMHCKOM IlepeBon Ha pycckuii
['sani]

[sto:m]
[he1l]
['harikon]
['drizl]
[snou]
['klaudi]
['windi]
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4. Hioma paccka3zajia MHOTO HHTEPECHOT0 CMelIapuKaM 00 AHIJIUM U JIIJSIX, KOTOPbIe TaM
skuByT. /laBaii mpoBepuM, 4TO 3Haellb Thl. Bbi0epuTe NMpaBWIbHBII BAPDHAHT OTBETA U
o0BeaUTE €ro. _ (5 06anmoB)

1. Englandisin.... a) Europe, b) Africa, c) America, d) Asia.

2. The author of the book “The Lord of the Rings” is ... .

a) J.R.Tolkien, b)J.R.Kipling, c¢)J.K. Rowling, d) L. Carroll.

3. Thanksgiving Day isin ... . a) December, b) October, c) November, d) September.

4. The most popular sport in Britainis ... . a) baseball, b) football, c) tennis.

5. Uro takoe “The Beatles”?

a) an animal, b) a musical instrument, c¢) a museum, d)a musical band.



5. llonpoOyii pasrajaii ouepeaHyro roaoBoaoMKky or Hiommu. B kaxayw cTpouky 100aBb
TOJIBKO JBe OYKBbl. OHM OyayT OKOHYAHHMEM I NEePBOr0 M HAYAJIOM JJIsl CJeAYHIIero
cioBa. [losicHeHUA K Ka:KI0MY CJI0OBY IIOMOTYT BaM. 5 dansi0B

. my aunt's husband — found on a tree

. not expensive — a fruit

. a clothes for women — you mustn't tell it

. not close — not your friend

. you eat a soup with it — a vegetable
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